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x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”2421|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” ”strong=”4069|��������� x-morph=”OSHM:HTi”
x-cantillationLevel=”0.1.1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”7489
a” x-morph=”OSHM:HVqi3mp” ”strong=”6440|�/����� x-morph=”OSHM:HNcbpc/Sp1cs”
x-cantillationLevel=”0.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1.0.0”
strong=”1004|����� b” x-morph=”OSHM:HNcmsc”����������|strong=”6913”
x-morph=”OSHM:HNcmpc” ”strong=”1|��/������ x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.1.0” strong=”2717|�������� b” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0.1” ”strong=”c/8179|��/���������/�� x-morph=”OSHM:HC/Ncmpc/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”398|��������� x-morph=”OSHM:HVQp3cp”
”strong=”b/784|�����/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”�
� 4 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”5921|���
a” x-morph=”OSHM:HR”����|strong=”4100” x-morph=”OSHM:HTi”������|strong=”2088”
x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.0” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” ”strong=”1245|���������� x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”1” ”strong=”c/6419|������������/��� x-morph=”OSHM:HC/Vtw1cs”
x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”430”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.0” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 5 ”strong=”c/559|������/��
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x-cantillationLevel=”1.2” strong=”518|��� a” x-morph=”OSHM:HC”����|strong=”5921
a” x-morph=”OSHM:HR”��������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
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x-cantillationLevel=”0.0.1” ”strong=”413|��� x-morph=”OSHM:HR”������|strong=”5892
b” x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0.0” ”strong=”6913|���������
x-morph=”OSHM:HNcmpc” ”strong=”1|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”c/1129|����/�������/�� x-morph=”OSHM:HC/Vqi1cs/Sp3fs”
x-cantillationLevel=”0”� 6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.1.1” ”strong=”c/d/7694|��������/��/��
x-morph=”OSHM:HC/Td/Ncfsa” x-cantillationLevel=”1.0.1.0” � ”strong=”3427|����������
x-morph=”OSHM:HVqrfsa” ”strong=”681|��/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0.1” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”4970”
x-morph=”OSHM:HTi” x-cantillationLevel=”1.0.0” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms” ”strong=”4109|���/��������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”c/4970|������/�� x-morph=”OSHM:HC/Ti”
”strong=”7725|��������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1”
”strong=”c/3190|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc”���������/���|strong=”d/4428” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”c/7971|���/�����������/�� x-morph=”OSHM:HC/Vqw3ms/Sp1cs”
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”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”2165|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
7 ”strong=”c/559|�������/�� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.3.0”
”strong=”l/4428|��������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.3”
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x-morph=”OSHM:HVqi3ms”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
”strong=”6086|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0.1”
strong=”l/7136|������/��� b” x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”8179” x-
morph=”OSHM:HNcmpc” ”strong=”d/1002|��������/�� x-morph=”OSHM:HTd/Ncfsa”
strong=”834|������ a” x-morph=”OSHM:HTr”��������/���|strong=”l/1004
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”c/l/2346|�������/��/��
x-morph=”OSHM:HC/R/Ncfsc” strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1” strong=”c/l/1004|�������/��/�� b” x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”935”
x-morph=”OSHM:HVqi1cs” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5414|�������/�� x-morph=”OSHM:HC/Vqw3ms”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”k/3027|���/��� x-morph=”OSHM:HR/Ncbsc”�/��������|strong=”430”
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.0” strong=”d/2896|��������/��
a” x-morph=”OSHM:HTd/Aafsa” strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� 9 ”strong=”c/935|�������/��� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.2.1” ”strong=”413|���� x-morph=”OSHM:HR”������������|strong=”6346”
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”strong=”d/5104|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/5414|�/��������/�� x-morph=”OSHM:HC/Vqw1cs/Sh” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.0” ”strong=”107|����������
x-morph=”OSHM:HNcfpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”8269|������� x-morph=”OSHM:HNcmpc” ”strong=”2428|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” strong=”c/6571|����������/��
b” x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0”� � 10 ”strong=”c/8085|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1.0” ”strong=”5571|�����������
x-morph=”OSHM:HNp” ”strong=”d/2772|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1.1” ”strong=”c/2900|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.0” ”strong=”d/5650|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/5984|���������/��� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1”
strong=”c/7489|�������/�� a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0” strong=”7451|������
4C
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x-cantillationLevel=”0”� 12 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.3.2.0” � ”strong=”3915|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.3.2” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.3.1” ”strong=”c/376|����������/�� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”1.3.0.0” � ”strong=”4592|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.3.0” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.3” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������������|strong=”5046”
x-morph=”OSHM:HVhp1cs” ”strong=”l/120|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”4100|���� x-morph=”OSHM:HTi” x-cantillationLevel=”1.1.1”
”strong=”430|��/������ x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”5414|������ x-morph=”OSHM:HVqrmsa” ”strong=”413|��� x-
morph=”OSHM:HR”�/�������|strong=”3820 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.0” ”strong=”l/3389|������������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/929|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.2.0” ”strong=”369|����� x-morph=”OSHM:HTn” strong=”5973|�/������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.2” strong=”3588|�����
b” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0” strong=”518|��� b”
x-morph=”OSHM:HC”���������/���|strong=”d/929” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0”
”strong=”7392|������ x-morph=”OSHM:HVqrmsa” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 13 ”strong=”c/3318|�/�������/��
x-morph=”OSHM:HC/Vqw1cs/Sh” ”strong=”b/8179|�������/�� x-morph=”OSHM:HR/Ncmsc”������/���|strong=”d/1516”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.1.0” ”strong=”3915|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.1” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”��������|strong=”6440” x-morph=”OSHM:HNcbpc”
x-cantillationLevel=”1.1.0” strong=”5869|����� b” x-morph=”OSHM:HNp”
strong=”8577|����������� b” x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”��������|strong=”8179”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”d/830|����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw1cs” strong=”7663|������� a” x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1.0.0” ”strong=”b/2346|�������/��� x-morph=”OSHM:HR/Ncfpc”
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d” x-morph=”OSHM:HR/Tr”��������|strong=”935” x-morph=”OSHM:HVqp3cp”
”strong=”d/3064|�����������/�� x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1”
”strong=”d/3427|�����������/�� x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”1.0”
”strong=”681|�/������� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|����/���
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”6235|�������
x-morph=”OSHM:HAcfsa” ”strong=”6471|���������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0.1” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”����������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” strong=”834|������
a” x-morph=”OSHM:HTr”������������|strong=”7725” x-morph=”OSHM:HVqi2mp”
strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0”�
7 22 KJV:Neh.4.13 ”strong=”c/5975|���������/��� x-morph=”OSHM:HC/Vhw1cs”
x-cantillationLevel=”1.0.0.0” ”strong=”m/8482|��������������/��� x-
morph=”OSHM:HR/Aafpa” ”strong=”l/4725|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0.0” strong=”m/310|��������/�� a” x-morph=”OSHM:HR/R”
”strong=”l/2346|�������/�� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”b/6708|������/� x-morph=”OSHM:HRd/Ncmpa” x-wType=”x-
ketiv” 23 ”strong=”c/5975|���������/��� x-morph=”OSHM:HC/Vhw1cs”
”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971 a”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”l/4940|�������������/��
20+
21+
22+
23+ ”strong=”b/6706|�����������/���������/� x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”1”
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x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”0.1” strong=”5973|���
a” x-morph=”OSHM:HR”����/����������|strong=”2719” x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0.0.0” ”strong=”7420|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”c/7198|����/�����������/�� x-morph=”OSHM:HC/Ncfpc/Sp3mp”
x-cantillationLevel=”0”� 8 24 KJV:Neh.4.14 ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqw1cs” strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1.1” ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/2715”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”����������/���|strong=”d/5461”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”�������|strong=”3499 a” x-morph=”OSHM:HNcmsc”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”408|��� x-morph=”OSHM:HTn”������������|strong=”3372”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.0” ”strong=”m/6440|����/������/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp” x-cantillationLevel=”1” ”strong=”853|���
x-morph=”OSHM:HTo”�/��������|strong=”136” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.2.0.0” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
”strong=”c/d/3372|��������/��/�� x-morph=”OSHM:HC/Td/VNrmsa”
x-cantillationLevel=”0.2.0” ”strong=”2142|�������� x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”0.2” strong=”c/3898|������������/�� a” x-morph=”OSHM:HC/VNv2mp”
x-cantillationLevel=”0.1.1” strong=”5921|��� a” x-morph=”OSHM:HR”����/������|strong=”251”
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.1.0” strong=”1121|����/������
a” x-morph=”OSHM:HNcmpc/Sp2mp” ”strong=”c/1323|����/�������/��
x-morph=”OSHM:HC/Ncfpc/Sp2mp” x-cantillationLevel=”0.1” ”strong=”802|����/������
x-morph=”OSHM:HNcfpc/Sp2mp” x-cantillationLevel=”0.0” strong=”c/1004|����/������/��
b” x-morph=”OSHM:HC/Ncmpc/Sp2mp” x-cantillationLevel=”0”� � 9 25
KJV:Neh.4.15 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0.0” strong=”k/834|������/���� d” x-morph=”OSHM:HR/Tr”����������|strong=”8085”
x-morph=”OSHM:HVqp3cp” ”strong=”341|����/��������� x-morph=”OSHM:HVqrmpc/Sp1cp”
x-cantillationLevel=”1.1.0” strong=”3588|���� a” x-morph=”OSHM:HC”���������|strong=”3045”
x-morph=”OSHM:HVNp3ms” 26 ”strong=”l|���/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1” strong=”c/6565|�������/�� a” x-morph=”OSHM:HC/Vhw3ms”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”6098” x-
morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/7725|����/�
x-morph=”OSHM:HC/Vqw1cp” x-wType=”x-ketiv” 27 ”strong=”3605|����/�������
x-morph=”OSHM:HNcmsc/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������/����|strong=”d/2346” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”��/�����������|strong=”4399”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 10 28 KJV:Neh.4.16
24+
25+
26C We read one or more accents in L differently from BHQ.
27+ ”strong=”c/7725|��������/������/� x-morph=”OSHM:HC/Vqw1cp”
28+
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”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.1.0”
� strong=”4480|��� a” x-morph=”OSHM:HR”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”1.2.1” ”strong=”2677|������ x-morph=”OSHM:HNcmsc”
”strong=”5288|��/������ x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.2.0”
strong=”6213|�������� a” x-morph=”OSHM:HVqrmpa” ”strong=”b/4399|����������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.2” ”strong=”c/2677|�/�������/��
x-morph=”OSHM:HC/Ncmsc/Sp3mp” x-cantillationLevel=”1.1.1” ”strong=”2388|������������
x-morph=”OSHM:HVhrmpa” x-cantillationLevel=”1.1.0” ”strong=”c/d/7420|���������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” ”strong=”d/4043|�����������/�� x-
morph=”OSHM:HTd/Ncbpa” x-cantillationLevel=”1.1” ”strong=”c/d/7198|�����������/��/��
x-morph=”OSHM:HC/Td/Ncfpa” x-cantillationLevel=”1.0” strong=”c/d/8302|�������������/��/��
b” x-morph=”OSHM:HC/Td/Ncbpa” x-cantillationLevel=”1” ”strong=”c/d/8269|���������/���/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”0.1” strong=”310|��������
a” x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
11 29 KJV:Neh.4.17 ”strong=”d/1129|���������/�� x-morph=”OSHM:HTd/Vqrmpa”
”strong=”b/2346|�������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0.0”
”strong=”c/d/5375|�����������/��/�� x-morph=”OSHM:HC/Td/Vqrmpa”
”strong=”b/5447|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”6006|���������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1”
”strong=”b/259|������/��� x-morph=”OSHM:HR/Acfsc” ”strong=”3027|���/���
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.1.0” strong=”6213|�������
a” x-morph=”OSHM:HVqrmsa” ”strong=”b/4399|����������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”c/259|������/�� x-morph=”OSHM:HC/Acfsa”
x-cantillationLevel=”0.0” ”strong=”2388|���������� x-morph=”OSHM:HVhrfsa”
”strong=”d/7973|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
12 30 KJV:Neh.4.18 ”strong=”c/d/1129|���������/���/�� x-morph=”OSHM:HC/Td/Vqrmpa”
x-cantillationLevel=”1.1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”2719|��/������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0.0”
”strong=”631|���������� x-morph=”OSHM:HVqsmpa” strong=”5921|���
a” x-morph=”OSHM:HR”�/���������|strong=”4975” x-morph=”OSHM:HNcmdc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/1129|��������/�� x-morph=”OSHM:HC/Vqrmpa”
x-cantillationLevel=”1” ”strong=”c/d/8628|���������/��/�� x-morph=”OSHM:HC/Td/Vqrmsa”
”strong=”b/7782|���������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”681|�/������� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�
13 31 KJV:Neh.4.19 ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/2715”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”����������/���|strong=”d/5461”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”�������|strong=”3499 a” x-morph=”OSHM:HNcmsc”

29+
30+
31+
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strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”d/4399|����������/�� x-morph=”OSHM:HTd/Ncfsa” strong=”7235|���������
a” x-morph=”OSHM:HVha” x-cantillationLevel=”1.0” ”strong=”c/7342|��������/��
x-morph=”OSHM:HC/Aafsa” x-cantillationLevel=”1” ”strong=”c/587|����������/��
x-morph=”OSHM:HC/Pp1cp” x-cantillationLevel=”0.1.1” ”strong=”6504|�����������
x-morph=”OSHM:HVNrmpa” x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������/����|strong=”d/2346” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”7350|���������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”m/251|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0”�
14 32 KJV:Neh.4.20 ”strong=”b/4725|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”8085|������������ x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”6963 a” x-morph=”OSHM:HNcmsc”
”strong=”d/7782|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”8033|�/������� x-morph=”OSHM:HD/Sd” x-cantillationLevel=”1.0”
”strong=”6908|������������ x-morph=”OSHM:HVNi2mp” ”strong=”413|���/������
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.0” strong=”3898|���������
a” x-morph=”OSHM:HVNi3ms” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0”� 15 33 KJV:Neh.4.21 ”strong=”c/587|����������/��
x-morph=”OSHM:HC/Pp1cp” x-cantillationLevel=”1.0” strong=”6213|��������
a” x-morph=”OSHM:HVqrmpa” ”strong=”b/4399|����������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/2677|�/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.2.1” ”strong=”2388|������������ x-morph=”OSHM:HVhrmpa”
x-cantillationLevel=”0.2.0” ”strong=”b/7420|���������/���� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0.2” ”strong=”m/5927|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”d/7837|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”3318|�����
x-morph=”OSHM:HVqc” ”strong=”d/3556|�����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 16 34 KJV:Neh.4.22 ”strong=”1571|����� x-morph=”OSHM:HTa”
”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3fs” x-cantillationLevel=”1.2.0” ”strong=”559|�����������
x-morph=”OSHM:HVqp1cs” strong=”l/5971|����/�� a” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”c/5288|��/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms” x-
cantillationLevel=”1.1” strong=”3885|��������� a” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.0” ”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3cp”���/����|strong=”l”
x-morph=”OSHM:HR/Sp1cp” ”strong=”d/3915|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”4929|��������� x-morph=”OSHM:HNcmsa”

32+
33+
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x-cantillationLevel=”0.0” ”strong=”c/d/3117|������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
”strong=”4399|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
17 35 KJV:Neh.4.23 ”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.1.0”
”strong=”c/251|�/�����/�� x-morph=”OSHM:HC/Ncmpc/Sp1cs” ”strong=”c/5288|�/�������/��
x-morph=”OSHM:HC/Ncmpc/Sp1cs” x-cantillationLevel=”1.1.1” ”strong=”c/376|���������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”d/4929|����������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”310|�/������� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”369|���� x-morph=”OSHM:HTn”�����������|strong=”587”
x-morph=”OSHM:HPp1cp” ”strong=”6584|���������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.0” strong=”899|���/��������� b” x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”7973|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”d/4325|�������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
�5 ”strong=”c/1961|�������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”6818|��������

x-morph=”OSHM:HNcfsc” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”c/802|����/������/�� x-morph=”OSHM:HC/Ncfpc/Sp3mp”

x-cantillationLevel=”1.0” strong=”1419|���������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”����/������|strong=”251”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”d/3064|�����������/��
x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”0”� 2 ”strong=”c/3426|�����/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”559|��������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.1” strong=”1121|���/������� a” x-morph=”OSHM:HNcmpc/Sp1cp”
”strong=”c/1323|���/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp1cp”
x-cantillationLevel=”1.0” ”strong=”587|���������� x-morph=”OSHM:HPp1cp”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1”
”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqh1cp” ”strong=”1715|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”c/398|���������/��
x-morph=”OSHM:HC/Vqh1cp” ”strong=”c/2421|��������/�� x-morph=”OSHM:HC/Vqi1cp”
x-cantillationLevel=”0”� 3 ”strong=”c/3426|�����/�� x-morph=”OSHM:HC/Tm”
x-cantillationLevel=”1.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”559|��������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1”
strong=”7704|���/��������� b” x-morph=”OSHM:HNcmpc/Sp1cp” x-
cantillationLevel=”1.0.0” ”strong=”c/3754|���/��������/�� x-morph=”OSHM:HC/Ncbpc/Sp1cp”
strong=”c/1004|���/�������/�� b” x-morph=”OSHM:HC/Ncmpc/Sp1cp”
x-cantillationLevel=”1.0” ”strong=”587|���������� x-morph=”OSHM:HPp1cp”
”strong=”6148|��������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1”
”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqh1cp” ”strong=”1715|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”b/7458|������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 4 ”strong=”c/3426|�����/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.1.0” strong=”834|�������
35+
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a” x-morph=”OSHM:HTr” ”strong=”559|��������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.1” strong=”3867|��������� b” x-morph=”OSHM:HVqp1cp”
”strong=”3701|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
strong=”l/4060|�������/�� b” x-morph=”OSHM:HR/Ncfsc” ”strong=”d/4428|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” strong=”7704|���/���������
b” x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.0” ”strong=”c/3754|���/��������/��
x-morph=”OSHM:HC/Ncbpc/Sp1cp” x-cantillationLevel=”0”� 5 ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”1.1.1” ”strong=”k/1320|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”251|����/������ x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”1.1.0” ”strong=”1320|���/��������� x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”1.1” strong=”k/1121|����/�����/��� a” x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”1.0” strong=”1121|���/������� a” x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”587|���������� x-morph=”OSHM:HPp1cp” ”strong=”3533|����������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0.1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”���/��������|strong=”1121 a” x-morph=”OSHM:HNcmpc/Sp1cp”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���/����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp1cp” x-cantillationLevel=”0.1.1.0” ”strong=”l/5650|���������/��
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.1.1” ”strong=”c/3426|�����/��
x-morph=”OSHM:HC/Tm” ”strong=”m/1323|���/���������/�� x-morph=”OSHM:HR/Ncfpc/Sp1cp”
”strong=”3533|������������� x-morph=”OSHM:HVNsfpa” x-cantillationLevel=”0.1.0”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”l/410|����/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3027|���/����� x-morph=”OSHM:HNcbsc/Sp1cp”
x-cantillationLevel=”0.1” strong=”c/7704|���/���������/�� b” x-morph=”OSHM:HC/Ncmpc/Sp1cp”
”strong=”c/3754|���/��������/�� x-morph=”OSHM:HC/Ncbpc/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”l/312|���������/�� x-morph=”OSHM:HR/Aampa”
x-cantillationLevel=”0”� 6 ”strong=”c/2734|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”1” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”8085|������������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/�����������|strong=”2201”
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0” ”strong=”d/1697|����������/��
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”0”� 7 strong=”c/4427|�����������/�� b” x-morph=”OSHM:HC/VNw3ms”
strong=”3820|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2.1.0”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.2.1”
”strong=”c/7378|��/��������/�� x-morph=”OSHM:HC/Vqw1cs/Sh” x-
cantillationLevel=”1.2.0” ”strong=”854|��� x-morph=”OSHM:HR”�������/���|strong=”d/2715”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”c/854|���/�� x-morph=”OSHM:HC/R”����������/���|strong=”d/5461”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2” ”strong=”c/559|�/�������/��
x-morph=”OSHM:HC/Vqw1cs/Sh” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”4855|�������� x-morph=”OSHM:HNcmsa”
36We read one ormore accents in L differently from BHQ. ”strong=”376|�����
36C
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x-morph=”OSHM:HNcmsa”�/������/����|strong=”b/251” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.0” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
”strong=”5383|����� x-morph=”OSHM:HVqrmpa” x-wType=”x-ketiv” 37
38 39 ”strong=”c/5414|�������/�� x-morph=”OSHM:HC/Vqw1cs” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0” ”strong=”6952|���������
x-morph=”OSHM:HNcfsa” strong=”1419|��������� a” x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0”� 8 ”strong=”c/559|�/�������/�� x-morph=”OSHM:HC/Vqw1cs/Sh”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.1”
”strong=”587|���������� x-morph=”OSHM:HPp1cp” ”strong=”7069|���������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”1.1.0.1” ”strong=”853|���
x-morph=”OSHM:HTo”���/�������|strong=”251” x-morph=”OSHM:HNcmpc/Sp1cp”
”strong=”d/3064|�����������/�� x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1.1.0.0”
”strong=”d/4376|�������������/�� x-morph=”OSHM:HTd/VNsmpa” strong=”l/1471|��������/��
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.1.0” ”strong=”k/1767|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”b|���/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1” ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”��������|strong=”859
d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”1.0.0” ”strong=”4376|������������
x-morph=”OSHM:HVqi2mp” ”strong=”853|��� x-morph=”OSHM:HTo”����/������|strong=”251”
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.0” ”strong=”c/4376|����������/��
x-morph=”OSHM:HC/VNq3cp”���/����|strong=”l” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1” strong=”c/2790|�������������/��� b” x-morph=”OSHM:HC/Vhw3mp”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”4672|�������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0”
”strong=”1697|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
� 9 ”strong=”c/559|����/� x-morph=”OSHM:HC/Vqw3ms” x-wType=”x-
ketiv” 40 41 Marks a place where we agree with BHQ against BHS in reading L.
42 ”strong=”3808|��� x-morph=”OSHM:HTn”������|strong=”2896 a”
x-morph=”OSHM:HAamsa” ”strong=”d/1697|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”859
d” x-morph=”OSHM:HPp2mp” strong=”6213|�������� a” x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
x-cantillationLevel=”0.1.0.0” ”strong=”b/3374|��������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.1.0”
”strong=”3212|��������� x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.1”
”strong=”m/2781|���������/�� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0”
strong=”d/1471|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” ”strong=”341|���/���������
x-morph=”OSHM:HVqrmpc/Sp1cp” x-cantillationLevel=”0”� 10 ”strong=”c/1571|���/��
x-morph=”OSHM:HC/Ta”�������|strong=”589” x-morph=”OSHM:HPp1cs”
37+ ”strong=”5383|������������� x-morph=”OSHM:HVqrmpa” x-
cantillationLevel=”1”
38Q Marks a place where we agree with BHQ against BHS in reading L.
39q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
40+ ”strong=”c/559|�������/������/� x-morph=”OSHM:HC/Vqw1cs” x-
cantillationLevel=”1.1”
41Q
42k We read one or more consonants in L differently from BHS.
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x-cantillationLevel=”1.1.0” ”strong=”251|�/����� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”c/5288|�/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”5383|�������� x-morph=”OSHM:HVqrmpa”
”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0”
”strong=”3701|������� x-morph=”OSHM:HNcmsa” ”strong=”c/1715|������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1” strong=”5800|����������
a” x-morph=”OSHM:HVqh1cp”������|strong=”4994” x-morph=”OSHM:HTj”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/4855”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0”� 11 ”strong=”7725|���������� x-morph=”OSHM:HVhv2mp”
”strong=”4994|���� x-morph=”OSHM:HTe” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0.1.0” ”strong=”k/d/3117|������/��/��� x-morph=”OSHM:HR/Td/Ncmsa”
x-cantillationLevel=”1.0.1” strong=”7704|����/�������� b” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.0.0” ”strong=”3754|����/�������� x-morph=”OSHM:HNcbpc/Sp3mp”
”strong=”2132|����/������ x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.0”
strong=”c/1004|����/������/�� b” x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3967|������/�� x-morph=”OSHM:HC/Acbsc”
”strong=”d/3701|�������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/d/1715|�������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”d/8492|����������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”c/d/3323|���������/��/�� x-
morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”0.0” ”strong=”5383|�������� x-morph=”OSHM:HVqrmpa”
”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�
12 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”7725|��������
x-morph=”OSHM:HVhi1cp” x-cantillationLevel=”1.2.1” ”strong=”c/m|����/��/��
x-morph=”OSHM:HC/R/Sp3mp” x-cantillationLevel=”1.2.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”1245|���������� x-morph=”OSHM:HVpi1cp”
x-cantillationLevel=”1.2” strong=”3651|����� c” x-morph=”OSHM:HTm”
strong=”6213|��������� a” x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”1.1”
strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”1.0”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” ”strong=”559|�������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” ”strong=”c/7121|��������/��
x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”0.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����������/���|strong=”d/3548” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.2” ”strong=”c/7650|�/������������/��� x-morph=”OSHM:HC/Vhw1cs/Sp3mp”
x-cantillationLevel=”0.1” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”k/1697|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
13 ”strong=”1571|���� x-morph=”OSHM:HTa”�/��������|strong=”2684”
x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”5287|����������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.1.2” ”strong=”c/559|�/�������/��� x-morph=”OSHM:HC/Vqw1cs/Sh”
x-cantillationLevel=”1.1.1.2” ”strong=”3602|������� x-morph=”OSHM:HD”
”strong=”5287|�������� x-morph=”OSHM:HVpi3ms” ”strong=”d/430|���������/���
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”������/���|strong=”d/376”
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x-morph=”OSHM:HTd/Ncmsa” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”6965 b”
x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1.1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�������/���|strong=”d/1697” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1.1”
strong=”m/1004|���/�����/�� b” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”c/m/3018|��/������/���/�� x-morph=”OSHM:HC/R/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/3602|������/�� x-morph=”OSHM:HC/D”
x-cantillationLevel=”1.0.0” ”strong=”1961|�������� x-morph=”OSHM:HVqi3ms”
”strong=”5287|������� x-morph=”OSHM:HVqsmsa” x-cantillationLevel=”1.0”
”strong=”c/7386|����/�� x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1”
”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�������/���|strong=”d/6951” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1.0” ”strong=”543|������ x-morph=”OSHM:HD”
x-cantillationLevel=”0.1.1” strong=”c/1984|����������/��� b” x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”c/6213|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”k/1697|�������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
14 ”strong=”1571|����� x-morph=”OSHM:HTa” x-cantillationLevel=”1.2.1.1”
”strong=”m/3117|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2.1.0”
� strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”6680”
x-morph=”OSHM:HVpp3ms” ”strong=”853|�/����� x-morph=”OSHM:HTo/Sp1cs”
x-cantillationLevel=”1.2.1” ”strong=”l/1961|�������/�� x-morph=”OSHM:HR/Vqc”
”strong=”6346|��/����� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.2.0”
”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”m/8141|��������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”1.1.1” ”strong=”c/5704|���/��� x-morph=”OSHM:HC/R”
x-cantillationLevel=”1.1.0.0” ”strong=”8141|������� x-morph=”OSHM:HNcfsc”
”strong=”7970|����������� x-morph=”OSHM:HAcbpa” ”strong=”c/8147|�����������/��
x-morph=”OSHM:HC/Acfda” x-cantillationLevel=”1.1.0” strong=”l/783|�������������������/��
a” x-morph=”OSHM:HR/Np” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.0” ”strong=”8147|��������� x-morph=”OSHM:HAcfda”
”strong=”6240|��������� x-morph=”OSHM:HAcfsa” x-cantillationLevel=”1”
”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”c/251|�/�����/��
x-morph=”OSHM:HC/Ncmpc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”3899|������
x-morph=”OSHM:HNcbsc” ”strong=”d/6346|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”398|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0”� 15 ”strong=”c/d/6346|��������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” ”strong=”d/7223|�����������/�� x-
morph=”OSHM:HTd/Aampa” strong=”834|������ a” x-morph=”OSHM:HTr”�/�����/���|strong=”l/6440”
x-morph=”OSHM:HR/Ncbpc/Sp1cs” x-cantillationLevel=”1.1.2.0” ”strong=”3513|������������
x-morph=”OSHM:HVhp3cp” strong=”5921|��� a” x-morph=”OSHM:HR”����/���|strong=”d/5971
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a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2” ”strong=”c/3947|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1.1.0” ”strong=”b/3899|������/��� x-morph=”OSHM:HR/Ncbsa”
”strong=”c/3196|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1.1”
strong=”310|������ a” x-morph=”OSHM:HR” x-cantillationLevel=”1.1.0”
”strong=”3701|������� x-morph=”OSHM:HNcmsa”�����������|strong=”8255”
x-morph=”OSHM:HNcmpa” ”strong=”705|������������ x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”1.1” ”strong=”1571|����� x-morph=”OSHM:HTa” ”strong=”5288|����/�������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”7980|���������
x-morph=”OSHM:HVqp3cp” strong=”5921|��� a” x-morph=”OSHM:HR”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/589|������/��
x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”0.1.0” ”strong=”3808|���
x-morph=”OSHM:HTn”�����������|strong=”6213 a” x-morph=”OSHM:HVqp1cs”
strong=”3651|���� c” x-morph=”OSHM:HD” x-cantillationLevel=”0.1” ”strong=”m/6440|�������/��
x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.0” ”strong=”3374|��������
x-morph=”OSHM:HNcfsc” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 16 ”strong=”c/1571|���/��� x-morph=”OSHM:HC/Ta”
x-cantillationLevel=”1.1.0.1” ”strong=”b/4399|���������/��� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”1.1.0.0” ”strong=”d/2346|�������/�� x-morph=”OSHM:HTd/Ncfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.1.0”
”strong=”2388|������������� x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”1.1”
strong=”c/7704|�������/�� b” x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7069|���������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”�/��������|strong=”5288” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”6908|���������� x-morph=”OSHM:HVqsmpa”
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x-cantillationLevel=”1.0” strong=”b/5892|����/�����/��� b” x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/5060|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0” ”strong=”d/2320|�������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/7637|�����������/�� x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”0.1”
strong=”c/1121|������/�� a” x-morph=”OSHM:HC/Ncmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”b/5892|����/�����/���
b” x-morph=”OSHM:HR/Ncfpc/Sp3mp” x-cantillationLevel=”0”�

49+
50+
51+
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8 ”strong=”c/622|�����������/�� x-morph=”OSHM:HC/VNw3mp”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” ”strong=”k/376|������/���

x-morph=”OSHM:HR/Ncmsa” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.2” ”strong=”413|��� x-morph=”OSHM:HR”�������/����|strong=”d/7339”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”8179|������� x-morph=”OSHM:HNcmsc”�������/���|strong=”d/4325”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.2.0” ”strong=”l/5830|��������/��
x-morph=”OSHM:HR/Np” strong=”d/5608|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.2” ”strong=”l/935|�������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”0.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”5612
a” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0” ”strong=”8451|��������
x-morph=”OSHM:HNcfsc” ”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”834|������ a” x-morph=”OSHM:HTr”��������|strong=”6680”
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 2 ”strong=”c/935|��������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”5830|�������� x-morph=”OSHM:HNp”
”strong=”d/3548|������/��� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0.1”
”strong=”853|���� x-morph=”OSHM:HTo”��������/���|strong=”d/8451”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”d/6951|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”m/376|������/�� x-morph=”OSHM:HR/Ncmsa”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”���������|strong=”802”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” ”strong=”c/3605|����/��
x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.0” ”strong=”995|�������
x-morph=”OSHM:HVhrmsa” ”strong=”l/8085|��������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0”
”strong=”l/2320|�������/�� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/7637|�����������/��
x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”0”� 3 ”strong=”c/7121|��������/��
x-morph=”OSHM:HC/Vqw3ms”���/��|strong=”b” x-morph=”OSHM:HR/Sp3ms”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”d/7339|�������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.1.1.0” � ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”8179|������� x-morph=”OSHM:HNcmsc”�������/���|strong=”d/4325”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1” strong=”4480|���
a” x-morph=”OSHM:HR”�����/���|strong=”d/216” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.1.0” ”strong=”5704|��� x-morph=”OSHM:HR”����������|strong=”4276”
x-morph=”OSHM:HNcfsc” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”5048|������ x-morph=”OSHM:HR” x-
cantillationLevel=”1.0.0” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
”strong=”c/d/802|���������/��/�� x-morph=”OSHM:HC/Td/Ncfpa” x-
cantillationLevel=”1.0” ”strong=”c/d/995|�����������/��/�� x-morph=”OSHM:HC/Td/Vhrmpa”
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x-cantillationLevel=”1” ”strong=”c/241|��������/�� x-morph=”OSHM:HC/Ncfdc”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”5612 a” x-morph=”OSHM:HNcmsc”
”strong=”d/8451|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
4 ”strong=”c/5975|���������/��� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1.0”
”strong=”5830|�������� x-morph=”OSHM:HNp” strong=”d/5608|�������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1” strong=”5921|����
a” x-morph=”OSHM:HR”���������|strong=”4026” x-morph=”OSHM:HNcbsc”�����|strong=”6086”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”6213|������� a” x-morph=”OSHM:HVqp3cp”
”strong=”l/1697|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”c/5975|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”681|��/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0.0.3” ”strong=”4993|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0.2” ”strong=”c/8087|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0.0.1” ”strong=”c/6043|�������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0.0.0” strong=”c/223|����������/��
a” x-morph=”OSHM:HC/Np” ”strong=”c/2518|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.0.0” ”strong=”c/4641|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”3225”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/m/8040|��/���������/��/��
x-morph=”OSHM:HC/R/Ncmsc/Sp3ms” x-cantillationLevel=”0.0.1” ”strong=”6305|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.0” ”strong=”c/4332|�����������/��
x-morph=”OSHM:HC/Np” ”strong=”c/4441|������������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0.0” ”strong=”c/2828|�������/�� x-morph=”OSHM:HC/Np”
”strong=”c/2806|���������������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
strong=”2148|���������� a” x-morph=”OSHM:HNp” ”strong=”4918|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 5 strong=”c/6605|����������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”5830|�������� x-morph=”OSHM:HNp”
strong=”d/5612|��������/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”l/5869|�������/�� a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3605|���
x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”����/���|strong=”m/5921
a” x-morph=”OSHM:HR/R” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” strong=”c/k/6605|��/������/��/��
a” x-morph=”OSHM:HC/R/Vqc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”5975|���������
x-morph=”OSHM:HVqp3cp” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 6 ”strong=”c/1288|���������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”5830|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1” strong=”c/6030|����������/�� b” x-morph=”OSHM:HC/Vqw3mp”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0.0” ”strong=”543|������
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x-morph=”OSHM:HD” � ”strong=”543|������ x-morph=”OSHM:HD” x-
cantillationLevel=”0.1.0” ”strong=”b/4607|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”3027|����/����� x-morph=”OSHM:HNcbdc/Sp3mp” x-cantillationLevel=”0.1”
”strong=”c/6915|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”c/7812|���������������/��
x-morph=”OSHM:HC/Vtw3mp” x-cantillationLevel=”0.0.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0” ”strong=”639|���������
x-morph=”OSHM:HNcmda” ”strong=”776|�/������� x-morph=”OSHM:HNcbsa/Sd”
x-cantillationLevel=”0”� 7 ”strong=”c/3442|���������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.0.7” ”strong=”c/1137|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.0.6” ”strong=”c/8274|������������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.0.5” � 52 We read one or more accents in L differ-
ently from BHQ. 53 ”strong=”3226|������� x-morph=”OSHM:HNp” x-
cantillationLevel=”1.1.0.4” ”strong=”6126|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.3” ”strong=”7678|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.2” � ”strong=”1941|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.1” ”strong=”4641|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”7042|��������� x-morph=”OSHM:HNp”
”strong=”5838|���������� x-morph=”OSHM:HNp” ”strong=”3107|���������
x-morph=”OSHM:HNp” ”strong=”2605|������ x-morph=”OSHM:HNp” strong=”6411|����������
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/d/3881|���������/��/��
x-morph=”OSHM:HC/Td/Ngmpa” x-cantillationLevel=”1.1” ”strong=”995|����������
x-morph=”OSHM:HVhrmpa” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”l/8451|��������/��
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1” strong=”c/d/5971|����/��/��
a” x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/��������|strong=”5977” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 8 ”strong=”c/7121|�����������/��� x-morph=”OSHM:HC/Vqw3mp”
strong=”b/5612|�������/�� a” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”b/8451|�������/��� x-morph=”OSHM:HR/Ncfsc” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” strong=”6567|���������
a” x-morph=”OSHM:HVPsmsa” x-cantillationLevel=”1” strong=”c/7760|������/��
a” x-morph=”OSHM:HC/Vqa” ”strong=”7922|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/995|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”b/4744|���������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� � 9 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”5166|���������� x-morph=”OSHM:HNp” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”d/8660|������������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.1.3” ”strong=”c/5830|��������/�� x-morph=”OSHM:HC/Np”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.2”
� strong=”d/5608|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.1”
”strong=”c/d/3881|���������/��/�� x-morph=”OSHM:HC/Td/Ngmpa”
”strong=”d/995|�����������/�� x-morph=”OSHM:HTd/Vhrmpa” ”strong=”853|���

52C
53c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-morph=”OSHM:HTo”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.1.0” ”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”6918|������� x-morph=”OSHM:HAamsa”������|strong=”1931”
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”1.1.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”����������������|strong=”56”
x-morph=”OSHM:HVtj2mp” x-cantillationLevel=”1.0” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”�����������|strong=”1058” x-morph=”OSHM:HVqj2mp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1058|��������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”k/8085|�/��������/��� x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”1697”
x-morph=”OSHM:HNcmpc” ”strong=”d/8451|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 10 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.1.1”
”strong=”3212|������ x-morph=”OSHM:HVqv2mp” ”strong=”398|��������
x-morph=”OSHM:HVqv2mp” strong=”4924|������������� c” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1.1.0” ”strong=”c/8354|�������/�� x-morph=”OSHM:HC/Vqv2mp”
”strong=”4477|������������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1”
”strong=”c/7971|���������/�� x-morph=”OSHM:HC/Vqv2mp” ”strong=”4490|�������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.0” ”strong=”l/369|�����/��
x-morph=”OSHM:HR/Tn” strong=”3559|������� a” x-morph=”OSHM:HVNrmsa”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”6918”
x-morph=”OSHM:HAamsa” ”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”l/136|���/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp1cp”
x-cantillationLevel=”1” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”�������������|strong=”6087
a” x-morph=”OSHM:HVNj2mp” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”2304” x-morph=”OSHM:HNcfsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” ”strong=”4581|����/��������
x-morph=”OSHM:HNcmsc/Sp2mp” x-cantillationLevel=”0”� 11 ”strong=”c/d/3881|���������/��/��
x-morph=”OSHM:HC/Td/Ngmpa” x-cantillationLevel=”1.1.0.0” ”strong=”2814|����������
x-morph=”OSHM:HVhrmpa” ”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” ”strong=”2013|������� x-morph=”OSHM:HTj”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”6918|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”c/408|���/��
x-morph=”OSHM:HC/Tn”������������|strong=”6087 a” x-morph=”OSHM:HVNj2mp”
x-cantillationLevel=”0”� 12 ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0.0” ”strong=”l/398|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”c/l/8354|���������/��/�� x-morph=”OSHM:HC/R/Vqc”
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x-cantillationLevel=”1.1.0” ”strong=”c/l/7971|��������/��/�� x-morph=”OSHM:HC/R/Vpc”
”strong=”4490|������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1”
strong=”c/l/6213|��������/��/�� a” x-morph=”OSHM:HC/R/Vqc” x-cantillationLevel=”1.0”
”strong=”8057|��������� x-morph=”OSHM:HNcfsa” strong=”1419|���������
a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”995|���������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”0.1.0” ”strong=”b/1697|����������/��� x-morph=”OSHM:HRd/Ncmpa”
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x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”1086|������ x-morph=”OSHM:HVqp3cp”
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x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”� 22 ”strong=”c/5414|��������/��
x-morph=”OSHM:HC/Vqw2ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
”strong=”4467|����������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.0”
strong=”c/5971|���������/�� a” x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”1.1”
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”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”�������|strong=”3117”
x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.0” ”strong=”3110|����������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������������|strong=”475”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 24 strong=”c/7218|��������/��
a” x-morph=”OSHM:HC/Ncmpc” ”strong=”d/3881|��������/��� x-morph=”OSHM:HTd/Ngmpa”
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x-cantillationLevel=”1.2.0.1” ”strong=”2811|����������� x-morph=”OSHM:HNp”
”strong=”8274|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0.0”
”strong=”c/3442|���������/�� x-morph=”OSHM:HC/Np” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”������������|strong=”6934” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”c/251|����/�����/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
”strong=”l/5048|�/��������/�� x-morph=”OSHM:HR/R/Sp3mp” x-cantillationLevel=”1.2”
strong=”l/1984|�������/�� b” x-morph=”OSHM:HR/Vpc” ”strong=”l/3034|��������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.1” ”strong=”b/4687|��������/���
x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0” ”strong=”1732|��������
x-morph=”OSHM:HNp” ”strong=”376|����� x-morph=”OSHM:HNcmsc”���������/���|strong=”d/430”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”4929|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”l/5980|�������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”4929|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 25 ”strong=”4983|����������� x-morph=”OSHM:HNp”
”strong=”c/1229|��������������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.0.0”
”strong=”5662|���������� x-morph=”OSHM:HNp” ”strong=”4918|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”2929|���������
x-morph=”OSHM:HNp” ”strong=”6126|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”8104|���������� x-morph=”OSHM:HVqrmpa”
”strong=”7778|������������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
”strong=”4929|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”b/624|���������/��� x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”0.0”
”strong=”d/8179|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
26 ”strong=”428|������� x-morph=”OSHM:HPdxcp” x-cantillationLevel=”1.1”
”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”1.0.0”
”strong=”3113|���������� x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”����������|strong=”3442” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”����������|strong=”3136
a” x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/b/3117|�����/��/��
x-morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”0.1.0” ”strong=”5166|����������
x-morph=”OSHM:HNp” ”strong=”d/6346|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/5830|��������/�� x-morph=”OSHM:HC/Np”
”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
strong=”d/5608|��������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
� 27 ”strong=”c/b/2598|���������/��/�� x-morph=”OSHM:HC/R/Ncfsc”
x-cantillationLevel=”1.1.1.0” ”strong=”2346|������� x-morph=”OSHM:HNcfsc”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”1245|���������� x-morph=”OSHM:HVpp3cp” ”strong=”853|���
x-morph=”OSHM:HTo”���������/���|strong=”d/3881” x-morph=”OSHM:HTd/Ngmpa”
x-cantillationLevel=”1.1.0” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”�/������������|strong=”4725”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.1” ”strong=”l/935|�/��������/��
x-morph=”OSHM:HR/Vhc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”l/3389|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” strong=”l/6213|�������/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”2598|��������� x-morph=”OSHM:HNcfsa”
”strong=”c/8057|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1.0”
”strong=”c/b/8426|��������/��/�� x-morph=”OSHM:HC/R/Ncfpa” strong=”c/b/7892|������/��/��
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a” x-morph=”OSHM:HC/R/Ncbsa” x-cantillationLevel=”0.1” ”strong=”4700|�������������
x-morph=”OSHM:HNcfda” x-cantillationLevel=”0.0” strong=”5035|���������
b” x-morph=”OSHM:HNcmpa” ”strong=”c/b/3658|����������/��/�� x-
morph=”OSHM:HC/R/Ncmpa” x-cantillationLevel=”0”� 28 ”strong=”c/622|������������/��
x-morph=”OSHM:HC/VNw3mp” x-cantillationLevel=”1.1” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” x-cantillationLevel=”1.0” ”strong=”d/7891|������������/��
x-morph=”OSHM:HTd/Vormpa” x-cantillationLevel=”1” strong=”c/4480|���/��
a” x-morph=”OSHM:HC/R”��������/���|strong=”d/3603” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1.0” ”strong=”5439|���������� x-morph=”OSHM:HNcbpa”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”c/4480|���/�� a” x-morph=”OSHM:HC/R”���������|strong=”2691
b” x-morph=”OSHM:HNcbpc” x-cantillationLevel=”0.0” ”strong=”5200|����������
x-morph=”OSHM:HNgmsa” x-cantillationLevel=”0”� 29 strong=”c/m/1004|������/��/��
b” x-morph=”OSHM:HC/R/Np” x-cantillationLevel=”1.1.0” ”strong=”1537|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”c/m/7704|���������/��/��
b” x-morph=”OSHM:HC/R/Ncmpc” ”strong=”1387|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/5820|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”2691|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.1.1” ”strong=”1129|�������
x-morph=”OSHM:HVqp3cp” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”d/7891|�������������/�� x-morph=”OSHM:HTd/Vormpa”
x-cantillationLevel=”0.1” ”strong=”5439|���������� x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 30 ”strong=”c/2891|�������������/�� x-morph=”OSHM:HC/Vtw3mp”
x-cantillationLevel=”1.1” ”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”c/d/3881|���������/��/�� x-morph=”OSHM:HC/Td/Ngmpa”
x-cantillationLevel=”1” ”strong=”c/2891|����������/��� x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������/���|strong=”d/8179” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/2346”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”� 31 ”strong=”c/5927|��������/��
x-morph=”OSHM:HC/Vhw1cs” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”8269” x-morph=”OSHM:HNcmpc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0”
”strong=”l/2346|�������/�� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/5975|�/����������/�� x-morph=”OSHM:HC/Vhw1cs/Sh” x-
cantillationLevel=”0.1.0.0” ”strong=”8147|�������� x-morph=”OSHM:HAcfdc”
”strong=”8426|������� x-morph=”OSHM:HNcfpa” strong=”1419|����������
a” x-morph=”OSHM:HAafpa” ”strong=”c/8418|����������/�� x-morph=”OSHM:HC/Ncfpa”
”strong=”l/3225|��������/�� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1.0”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R” ”strong=”l/2346|�������/��
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”l/8179|�������/��
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0” ”strong=”d/830|����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 32 ”strong=”c/3212|��������/��
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x-morph=”OSHM:HC/Vqw3ms” strong=”310|����/������� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”1955|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/2677|������/�� x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”8269|������� x-morph=”OSHM:HNcmpc”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
33 ”strong=”c/5838|����������/�� x-morph=”OSHM:HC/Np” ”strong=”5830|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/4918|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� 34 ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”c/1144|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.1” ”strong=”c/8098|������������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” ”strong=”c/3414|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0”� � 35 strong=”c/m/1121|�������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc” ”strong=”d/3548|����������/�� x-
morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0” ”strong=”b/2689|�����������/���
x-morph=”OSHM:HR/Ncfpa” x-cantillationLevel=”1” strong=”2148|����������
a” x-morph=”OSHM:HNp” strong=”1121|��� a” x-morph=”OSHM:HNcmsc”�����������|strong=”3129”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�������������|strong=”8098” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”4983”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”1121|���� a”
x-morph=”OSHM:HNcmsc”�����������|strong=”4320” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”2139”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”1121|���� a” x-
morph=”OSHM:HNcmsc”�������|strong=”623” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 36 ”strong=”c/251|�/������/��� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.1.0.5” ”strong=”8098|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.4” ”strong=”c/5832|����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.0.3” ”strong=”4450|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.2” ”strong=”1562|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.1” ”strong=”4597|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”5417|���������� x-morph=”OSHM:HNp”
”strong=”c/3063|��������/��� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.0”
”strong=”2607|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”b/3627|�����/��� x-morph=”OSHM:HR/Ncmpc”�������|strong=”7892
a” x-morph=”OSHM:HNcbsc” ”strong=”1732|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/5830|��������/�� x-morph=”OSHM:HC/Np” strong=”d/5608|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”l/6440|����/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp3mp” x-cantillationLevel=”0”� 37 strong=”c/5921|����/��
a” x-morph=”OSHM:HC/R” ”strong=”8179|������� x-morph=”OSHM:HNcmsc”
strong=”d/5869|������/�� b” x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1.2.0”
”strong=”c/5048|�/��������/�� x-morph=”OSHM:HC/R/Sp3mp” x-cantillationLevel=”1.1.2”
”strong=”5927|������ x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1.1”
strong=”5921|���� a” x-morph=”OSHM:HR”����������|strong=”4609
b” x-morph=”OSHM:HNcfpc” x-cantillationLevel=”1.1.0” strong=”5892|�����
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b” x-morph=”OSHM:HNcfsc” ”strong=”1732|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”b/4608|���������/���� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”l/2346|�������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
x-cantillationLevel=”0.1.0” strong=”l/1004|�����/�� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”1732|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/5704|����/�� x-morph=”OSHM:HC/R” x-cantillationLevel=”0.0.0”
”strong=”8179|������� x-morph=”OSHM:HNcmsc” ”strong=”d/4325|�������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” ”strong=”4217|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 38 ”strong=”c/d/8426|��������/��/��
x-morph=”OSHM:HC/Td/Ncfsa” ”strong=”d/8145|���������/�� x-morph=”OSHM:HTd/Aofsa”
x-cantillationLevel=”1.0.0” ”strong=”d/1980|���������/�� x-morph=”OSHM:HTd/Vqrfsa”
”strong=”l/4136|������/�� x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0”
”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs” strong=”310|��/��������
a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”c/2677|������/��
x-morph=”OSHM:HC/Ncmsc” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1.0” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”l/d/2346|�������/��/�� x-morph=”OSHM:HR/Td/Ncfsa” x-cantillationLevel=”0.1.1”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R” x-cantillationLevel=”0.1.0”
”strong=”l/4026|���������/�� x-morph=”OSHM:HR/Ncbsc” ”strong=”d/8574|������������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/5704|����/��
x-morph=”OSHM:HC/R” x-cantillationLevel=”0.0” ”strong=”d/2346|�������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/7342|��������/�� x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”0”� 39 strong=”c/m/5921|����/��/�� a” x-morph=”OSHM:HC/R/R”
”strong=”l/8179|�������/�� x-morph=”OSHM:HR/Ncmsc”�����������|strong=”669”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”��������|strong=”8179” x-morph=”OSHM:HNcmsc”
”strong=”3466|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��������|strong=”8179”
x-morph=”OSHM:HNcmsc” ”strong=”d/1709|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1.1” ”strong=”c/4026|���������/�� x-morph=”OSHM:HC/Ncbsc”
”strong=”2606|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/4026|���������/�� x-morph=”OSHM:HC/Ncbsc” ”strong=”d/3968|�������/��
x-morph=”OSHM:HTd/Acbsa” x-cantillationLevel=”1.1” ”strong=”c/5704|����/��
x-morph=”OSHM:HC/R” x-cantillationLevel=”1.0” ”strong=”8179|�������
x-morph=”OSHM:HNcmsc” ”strong=”d/6629|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1” 104 Marks a place where we agree with BHQ against
BHS in reading L. 105 ”strong=”c/5975|���������/�� x-morph=”OSHM:HC/Vqp3cp”
x-cantillationLevel=”0.1” ”strong=”b/8179|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”d/4307|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 40 ”strong=”c/5975|�������������/��� x-
morph=”OSHM:HC/Vqw3fp” x-cantillationLevel=”1.0.0” ”strong=”8147|��������
x-morph=”OSHM:HAcfdc” ”strong=”d/8426|��������/�� x-morph=”OSHM:HTd/Ncfpa”

104Q
105k We read one or more consonants in L differently from BHS.
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x-cantillationLevel=”1.0” strong=”b/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”d/430|���������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1”
”strong=”c/589|������/�� x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”0.1”
”strong=”c/2677|������/�� x-morph=”OSHM:HC/Ncmsc” ”strong=”d/5461|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” strong=”5973|�/������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 41 ”strong=”c/d/3548|����������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”0.0.0.3” ”strong=”471|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.2” ”strong=”4641|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.1” ”strong=”4509|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0.0” ”strong=”4320|���������
x-morph=”OSHM:HNp” strong=”454|�������������� b” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” strong=”2148|���������� a” x-morph=”OSHM:HNp”
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x-cantillationLevel=”0.1.1” ”strong=”802|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0.1.0” ”strong=”796|�������� x-morph=”OSHM:HNgfpa”
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x-wType=”x-ketiv” 111 112 Yathir readings in L which we have designated as
Qeres when both Dothan and BHS list a Qere. ”strong=”5984|������� x-
morph=”OSHM:HNgfpa” x-wType=”x-ketiv” 113 114 ”strong=”4125|�������������
x-morph=”OSHM:HNgfpa” x-cantillationLevel=”0”� 24 strong=”c/1121|����/�����/��
a” x-morph=”OSHM:HC/Ncmpc/Sp3mp” x-cantillationLevel=”1.1.1” ”strong=”2677|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” ”strong=”1696|���������
x-morph=”OSHM:HVprmsa” ”strong=”797|�������������� x-morph=”OSHM:HNgfsa”
x-cantillationLevel=”1.1” ”strong=”c/369|�/������/�� x-morph=”OSHM:HC/Tn/Sp3mp”
strong=”5234|����������� a” x-morph=”OSHM:HVhrmpa” x-cantillationLevel=”1.0”
”strong=”l/1696|�������/�� x-morph=”OSHM:HR/Vpc” ”strong=”3066|����������
x-morph=”OSHM:HNgfsa” x-cantillationLevel=”1” ”strong=”c/k/3956|��������/��/��
x-morph=”OSHM:HC/R/Ncbsc” x-cantillationLevel=”0.0” strong=”5971|����
a” x-morph=”OSHM:HNcmsa” strong=”c/5971|����/�� a” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0”� 25 ”strong=”c/7378|�������/�� x-morph=”OSHM:HC/Vqw1cs”
strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.0”
”strong=”c/7043|�/����������/�� x-morph=”OSHM:HC/Vpw1cs/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/5221|�������/�� x-morph=”OSHM:HC/Vhw1cs”
”strong=”m|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0.0”
”strong=”376|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
”strong=”c/4803|�/���������/��� x-morph=”OSHM:HC/Vqw1cs/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/7650|�/������������/�� x-morph=”OSHM:HC/Vhw1cs/Sp3mp”
”strong=”b/430|��������/���� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.2.1”
strong=”518|��� a” x-morph=”OSHM:HC”�����������|strong=”5414”
x-morph=”OSHM:HVqi2mp” ”strong=”1323|����/�������� x-morph=”OSHM:HNcfpc/Sp2mp”
x-cantillationLevel=”0.2.0” strong=”l/1121|����/�����/�� a” x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”0.2” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����������|strong=”5375”
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.1.0” ”strong=”m/1323|����/���������/��
x-morph=”OSHM:HR/Ncfpc/Sp3mp” x-cantillationLevel=”0.1” strong=”l/1121|����/�����/��
a” x-morph=”OSHM:HR/Ncmpc/Sp2mp” x-cantillationLevel=”0.0” ”strong=”c/l|����/��/��
x-morph=”OSHM:HC/R/Sp2mp” x-cantillationLevel=”0”� 26 ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”428”
x-morph=”OSHM:HPdxcp” ”strong=”2398|������ x-morph=”OSHM:HVqp3ms”����������|strong=”8010”
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.1”
strong=”c/b/1471|��������/��/�� a” x-morph=”OSHM:HC/Rd/Ncmpa”
strong=”d/7227|��������/�� a” x-morph=”OSHM:HTd/Aampa” ”strong=”3808|����
x-morph=”OSHM:HTn”�������|strong=”1961” x-morph=”OSHM:HVqp3ms”
”strong=”4428|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.1.0”
”strong=”3644|���/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.1”

111+ ”strong=”796|������������������������ x-morph=”OSHM:HNgfpa” x-
cantillationLevel=”0.1”
112y
113+ ”strong=”5984|�������������������� x-morph=”OSHM:HNgfpa” x-
cantillationLevel=”0.0”
114y Yathir readings in L which we have designated as Qeres when both Dothan and BHS list a
Qere.
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”strong=”c/157|�������/�� x-morph=”OSHM:HC/Vqsmsa” ”strong=”l/430|��/������/���
x-morph=”OSHM:HR/Ncmpc/Sp3ms” x-cantillationLevel=”1.2.0” ”strong=”1961|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2” ”strong=”c/5414|���/���������/��
x-morph=”OSHM:HC/Vqw3ms/Sp3ms” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”4428|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”1571|���� x-morph=”OSHM:HTa”��/������|strong=”853”
x-morph=”OSHM:HTo/Sp3ms” ”strong=”2398|����������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”0.1” ”strong=”d/802|���������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0.0” ”strong=”d/5237|�������������/�� x-morph=”OSHM:HTd/Aafpa”
x-cantillationLevel=”0”� 27 ”strong=”c/l|����/��/�� x-morph=”OSHM:HC/R/Sp2mp”
”strong=”i/8085|���������/�� x-morph=”OSHM:HTi/VNp3ms” x-cantillationLevel=”1.1.2”
strong=”l/6213|�������/�� a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.1”
”strong=”853|���� x-morph=”OSHM:HTo” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/7451
c” x-morph=”OSHM:HTd/Ncfsa” strong=”d/1419|����������/�� a” x-
morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.1.0” ”strong=”d/2063|������/��
x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1.1” ”strong=”l/4603|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”b/430|���/�������/����
x-morph=”OSHM:HR/Ncmpc/Sp1cp” x-cantillationLevel=”1” ”strong=”l/3427|��������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.0” ”strong=”802|��������
x-morph=”OSHM:HNcfpa” ”strong=”5237|������������ x-morph=”OSHM:HAafpa”
x-cantillationLevel=”0”� 28 strong=”c/m/1121|�������/��/�� a” x-morph=”OSHM:HC/R/Ncmpc”
”strong=”3111|��������� x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�������������|strong=”475” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”d/3548|�������/�� x-morph=”OSHM:HTd/Ncmsa”
strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.1”
”strong=”2860|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/5571|�����������/�� x-morph=”OSHM:HR/Np” ”strong=”d/2772|��������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1” ”strong=”c/1272|���/����������/��
x-morph=”OSHM:HC/Vhw1cs/Sp3ms” x-cantillationLevel=”0.0” strong=”m/5921|�/�����/��
a” x-morph=”OSHM:HR/R/Sp1cs” x-cantillationLevel=”0”� 29 ”strong=”2142|�/�������
x-morph=”OSHM:HVqv2ms/Sh” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1” strong=”5921|���� a” x-morph=”OSHM:HR” x-cantillationLevel=”0.1.0”
”strong=”1352|��������� x-morph=”OSHM:HNcmpc” ”strong=”d/3550|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”c/1285|�������/��
x-morph=”OSHM:HC/Ncfsc” ”strong=”d/3550|����������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”c/d/3881|���������/��/�� x-morph=”OSHM:HC/Td/Ngmpa”
x-cantillationLevel=”0”� 30 ”strong=”c/2891|�/������������/�� x-
morph=”OSHM:HC/Vpp1cs/Sp3mp” x-cantillationLevel=”1.0” ”strong=”m/3605|����/��
x-morph=”OSHM:HR/Ncmsc”�������|strong=”5236” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/5975|�/����������/�� x-morph=”OSHM:HC/Vhw1cs/Sh”
”strong=”4931|������������ x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0.0”
”strong=”l/3548|����������/�� x-morph=”OSHM:HRd/Ncmpa” ”strong=”c/l/3881|���������/��/��
x-morph=”OSHM:HC/Rd/Ngmpa” x-cantillationLevel=”0.0” ”strong=”376|������
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x-morph=”OSHM:HNcmsa” ”strong=”b/4399|��/����������/��� x-morph=”OSHM:HR/Ncfsc/Sp3ms”
x-cantillationLevel=”0”� 31 strong=”c/l/7133|���������/��/�� b” x-
morph=”OSHM:HC/R/Ncmsc” ”strong=”d/6086|�������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0.0” ”strong=”b/6256|��������/��� x-morph=”OSHM:HR/Ncbpa”
”strong=”2163|������������ x-morph=”OSHM:HVPsfpa” x-cantillationLevel=”1.0”
”strong=”c/l/1061|������������/��/�� x-morph=”OSHM:HC/Rd/Ncbpa”
x-cantillationLevel=”1” 115 We read one or more accents in L differently from
BHQ. ”strong=”2142|�/������ x-morph=”OSHM:HVqv2ms/Sh”�/�����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”430|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” strong=”l/2896|�������/�� c” x-morph=”OSHM:HR/Aafsa”
x-cantillationLevel=”0”�

115C


